@ﬁ%@%ﬁ@ 3% R 3 74HC00
Ver 1.0G
7T4HCO0

W

T4HC00 & — R Fl Je it CMOS HEARBETH IR TAE 2 SN SR 1A . B N AR e DU ZH. 2 i N\ i
AR, AL R B RS SR R R L, A BRI T R AR A . O Th A
FRES] I X5 54/74LS R THA.

B =R
® [LHIAHIN: <IuA ® i LYFHJEVEHE: 2.0V to 6.0V

@ (LHEAEIIFE: Tce<<5.5uh, @ VCC=6V,Ta=25°C @ HHEJE: DIP14 . SOP14

B SRR
® HFIBIEIKZ) ® TN (WHgEas, A &%
@ v A
B HEEANERIREE X DIP14/50P14
TS g TS 5 | L .
NI NI 1
DIP14/SOP14 | EX | DIP14/S0P14 | &L a11] 1] v
1 Al 14 VCC Bl EI B4
2 B1 13 B4 V1 12] A4
3 Y1 12 A4 a2[4] 1] v4
4 A2 11 Y4 BZE E B3
5 B2 10 B3 vz@ 5] A3
6 Y2 9 A3
GND|7 8|v3
7 GND 8 Y3 8]
vE: TAHCXXXD 7R DIP14 2%, T4HCXXXS FRax SOP14 3,
m RRSH
S T W BRAH <R }v2
TAEHE Vee 6.5 \
BN/ LR Vine Vour -0. 3-Vec+0. 3V \
BN R TR Tout +25 mA
Vee B¢ GND Hi i Icc +50 mA
FERLIT R Pp 500 mW
TARERE Ta 0-70 C
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Inputs Output
A — A B Y
o S O AR
L H H
_ H L H
Y = AB H H L
H=High logic level
] I,f/'g%,ﬁ: L=low logic level
| a2 B/ME HAE =Y N By
TAFHE Vee 2 5 6 v
F N LR Vin. Vout 0 vee vV
i A LT/ - VCC=2. 0V 0 1000 ns
B I VCC=4. 5V 0 500 ns
VCC=6. OV 0 400 ns
TARRAE Ta 0 60 C
WA
HHBEZERME: T=25C
5 i H MR 2% VCC(V) | He/ME | BURUME | BORME | A7
2.0 1.5 v
Vin | A HSPE SR 4.5 3.15 v
6.0 4.2 v
2.0 0.5 v
Ve | AR R L 4.5 1. 35 vV
6.0 1.8 v
2.0 1.9 v
\|/IIO=UT\|/£2%LXIL 4.5 4.4 v
Vou | FE-Poa H f 6.0 5.9 v
Vi= Vi | |Tour| <4.0mA 4.5 3.7 4.4 v
or Vi |Tour| <5.2mA 6.0 5.2 5.8 v
Ve Ve or V 2.0 0.1 v
|II |I<HzouAIL 4.5 0.1 v
Vou | fIGHLF4 LR T 6.0 0.1 v
Vi=  Vin | [Tour| <4.0mA 4.5 0. 06 0.4 v
or Vi |Tour| <5.2mA 6.0 0.07 0.5 v
Iiv | A HLIR Vi=Vcc or GND 6.0 1 uA
Icc | LAEHR Vi=Vccor GND,Ioyr=0pA | 6.0 5.5 ul
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P.G g |A— —
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output Mid Mid
10% 10%
- - — VoL
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1. See Testing Table F55Z VL HLEREH: 2R A AH BB T0 H 5

2. CL RIANAMEN A (0603) , FEITHH N, A HSEITE T GND;
3. Input: ¥, £=500kHz, D=50%; tr=tf<<20ns;

4. Output: Y %ot
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